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GENERAL MENTAL ABILITY TEST
mmas WPRT TR TOcs
@ D Y

(Questions 1 - 5) (@%ﬁ% 1-5)
Directions : Under each given letter series, BRWBIND 291 BRWHE D203R03 923
[X] - W

four alternative§ are given. Complete the @esé”ma o), wodms-‘ojaﬁ%fmq é@%d.
series by choosing the correct one. ﬁ@oﬁmdadabol =02 éeséojamol P e

1. ZW, VS, RO, NK, ?

2. ACF, EGJ, ?, MOR, QSV

1) JH 1) IKN
2) IF 2) KMQ
3) JG 3) IKM
4) LI 4) ILN

4aml_n_mo__po_qgpp

1)aabcd Hmopgqr
2ycbdba 2 Immno
3ycdabb 3yImnoo
4y cdbab 4)Imnno

5. XX_Y_ Yy _2Z_X__2zZXYyz

1

3
4

)YZYyXXZ
2) XyzXyy
) XYy ZXYX
)

ZXYYyXX
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(Questions 6— 10) (g%ﬁféo 6 — 10)

Directions : Complete the following number ZRUEIRYD : 2RUDTE TOTEODNRLOT
: o

series by choosing the correct number fromthe | . . .
given choices. 100303 NO@jéﬁ%ﬁmol 308, SN ROAT

BeednTR), TWRFRRVA.

6. 11, 15, 24, 40, 65, ? 7. 3,6,24,144,?,11520

1) 98 1) 576

2) 99 2) 864

3) 101 3) 1008

4) 102 4) 1152
8.6,596,14,9,?,7?,30 9. 13,18, 25, ?, 49, 66

1) 21,14 1) 34

2) 10,8 2) 36

3) 14,18 3) 37

4) 21,16 4) 38

10. 4,5, 13, 40,104, ?
1) 219
2) 225
3) 229
4) 239



GMAT(K-8) N A A

(Questions 11 - 15) (@%ﬁ% 11 -15)

Directions : Find the wrong number in the =xa:33Rs @ 20u33T 330D B3T3
given series. - X N o
RO23,0DZ, BOTWLROND.

11. 5, 8, 14, 23, 34, 50 12. 3,5, 14, 39, 88, 169

1) 14 1) 3
2) 23 2) 5
3) 34 3) 14
4) 50 4) 39

13. 5,8,11, 19, 35, 67, 131 14. 10, 17, 26, 37, 50, 67
1) 5 1) 10
2) 8 2) 17
3) 11 3) 50
4) 67 4) 67

15. 1,1,5,3,10,6, 16, 9, 23, 15
1) 9
2) 15
3) 16
4) 23
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(Questions 16 — 20) (@%ﬁ% 16 — 20)

Directions : The following Venn Diagrams BRWING : & IINT I WBSNW
show the relationship among the three @5’&053@ TIXT [DORTY TIINLNTIS
given objects. Indicate the appropriate BOLOFBI, $23533. 85 ggwoda@{
diagram to show the relationship. 23D ZO3RS ngwm& RS,

D © e
(o ©

D E F
16. Polygons, Quadrilaterals, Squares 17. Water, Oxygen, Compounds
w%oap‘oms@an’%, WG ICTWNRYD, e, ITPWRT, BOOSNFNED
SNENH 1) B
1) B 2) C
2) D 3) E
3) E 4) F
4) F

18. Headmasters, Science Teachers, 19. Students, Kabaddi players, Hockey

Laboratory Attenders players
mmsemmao&do, &Dm@ﬁ égﬁda &Dm@;ﬁ%, sm@ BLMOTT, Tod
TRRTROCR TTCRITL EiXTprolelen
1) F 1) A
2) E 2) B
2 B 3) D
) 4) E
4) A



GMAT(K-8) N A A

20. Jowar, Ragi, Cereals
BdReY, TN, mﬁsﬁeéo

1) B
2) C
3) D
4) E
(Questions 21 — 25) (@%ﬁ% 21 - 25)

Directions : In the given questions there are RN 1 83 3TN TP T3cWe0TSHoDR
four groups of numbers / pairs of numbers/ FOSZNR/ ERCR FOIBNRH/ WITNE MHOTHNE
group of letters of which three are alike and ®9LY, TOOTVNTI), R, YYNTY R
one is different. Find the one which is different. 20T 0¢30D FOLWOTFB/I), TLOLTOTS.

200D BRY, PIFONT. T ETONTOR)TZ,

TSR,
21. 1) 2 22. 1) 22
2) 12 2) 46
3) 18 3) 78
4) 80 4) 124
23. 1) 1,10 24. 1)BXD
2) 3,30 2) EUG
3) 5,130 3) HRK
4) 7,350 4) KOM
25. 1) CEHM
2) MORV
3) JLOS
4) Qsvz
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(Questions 26 - 31)

Directions : Complete the given analogy by
selecting the correct answers from alternatives.

28. 9:73::

30. KI2:NL5::PM3:?

10: 7

26. 2:5::8:7?

(@%ﬁ@a 26 - 31)
BRWIN : BRLITOE TO3eF 0PNRVOT
HOOITPW WTTJTY, BOX FENT
mmééojbm& TRRFNRD.

29.

31.

BBC:EGJ
1) JSV
2) FSU
3) GSU
4) FSV
AXE:GZC
1) MLP
2) NLQ

3) MLQ

)
)
)
4) MHQ

::CNN:?

::?2:SJ40
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(Questions 32 — 36) (@%ﬁ%‘b 32 -36)

Directions : The following questions are based ARUWRA 1 T8 IINT 55 ned &rowdaﬁ

on the given diagram below in which each &3 &0R, Tonw WTIIT w%Oﬁ.@Od& 238
figure represents a group. The numbers in the 20T ANIeES w\%@wéd a%éd@doa
figure represent the number of persons in the ©OBN & mo@m@dm Z=T B0 OfDo“D

group. RRWATT.
ﬁ Agriculturists
v AR
' Teachers
6 \5 \8 O éﬁ\ 28>
10 Doctors
déddo
32. How many are only agriculturists ? 33. How many teachers are
amﬁ’ e %3& mg SNTS 2 agriculturists ?
° IR, ¥R HTIL BFZNRS ?
1) 4 e ) 0] o
2) 5 1) 4
3) 6 2) 5
4) 7 3) 6
4) 7
34. How many teachers are doctors and 35. How many doctors are agriculturists ?
agriculturists ? aa,% = ﬁédézﬁo % 3&%\@3{3 2
aﬁgg &S ST I ﬁéddo T
“ ) = 1) 4
z%émmmd ?
e 2) 5
1) 5 3) 6
2) 6 4) 7
3) 8
4) 10

36. Totally how many doctors are there in the group ?
MORTY WD O WR FHHOwB ?
1) 33
2) 2
3) 27
4) 1
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(Questions 37 - 40)

Directions : Choose and substitute the correct
set of signs in place of = sequentially selecting
from the given alternatives to make the
equations meaningful.

37.30*6*3*2

39.

(Questions 41 and 42)

Directions : In the given equations find which
of the following interchange of signs/numbers
would make the equation correct.

41. 7=15+3 +12
1) =and +
= DR +
2) 15and 12
15 mgg 12
3) 7and 12
7 a’néz 12
4) +and =+
+ WD+

10

(T3> 37 - 40)

BRWRNL 1 BRLTOT BACTTEOTI),
OPFTVROFBIVBL, FRLTIT 0330
WH O NETD), * WNTY TN
STIeHRLEBD DOLVT, TJOITF OPNPOT
&0A.

38. 7*4*5*33

X

X

=, X

@%ﬁ% 41 =) 42)
BRWNNLD © BRWTT BWETTRTY
o350 as@ﬁ@omowéwm& TN W
VPRTON FETTR FOOIPNATITT
DOVTIR), FOTWIEROWD.
42. 17=7-2x%x5
1) 2and 7
2 DR 7
2) 17 and 5
17 ?3333 5
3) =and x
m@g X
and —
DB~

4)



GMAT(K-8)

(Questions 43 - 48)

Directions : Find the missing number /letter in
the given matrices.

43.

M| 2

45.

15| 10

21 13

47. 9 3

1) 60

)
3) 105
) 129

11

(ZBnies 43 - 48)

DRBEINAY

BRLITVW RIVSINTSD e
e ® ) e

BRENTD xo57323/@0%3\:55?\’@0l O HBOWD.

44,
P TV
J R
Flg ?
1) B
2) C
3) D
4) E
46. 6 27 4
7 59 8
5 ? 9
1) 45
2) 46
3) 47
4) 48
48. 6 3 9
8 10 4
? 109 97
1) 90
2) 100
3) 101
4) 116
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(Questions 49 — 53) (@%ﬁ% 49 - 53)

Directions : Read the following questions RSN © B é_?ﬁ é\ra@édaf @%ﬁgﬁm&

carefully and find the answers. NETED, . TSRO TR
NZTTR, TOBIEROND.

49. John was facing North. He walked  49. 2T VT TNDTRRRN. WT

40 m and turned left to cover 20 m, 40 m 583 <S03 ac:'%% SN 20 m
again he turned left and walked 40 m. -
How far is he from his original position ? —g)&”pagg’ wozc mg@o&e @55% 8N

40 m STEBNTYN. I 31N 364 TRV

1) 80m BT T, BRSTOTS ?
2) 60 m 13@ 80m " v
3) 40m 2) 60m
4) 20 m 3) 40 m
4) 20 m
50. A and B are sisters, C is the motherof 50, A 33 B Z232c3005%, CO» B &
B, D is the father of C, E is the mother 33033,-9 DS C® 308, Eo DR

of D. How is A relatedto D ?

1) Grandmother

So0%w. A O3» DR Qsendes ?

2) Grandfather 1) ©%
3) Daughter 2) 308
4) Granddaughter 3) N
4) mmewo

51. An ambulance reaches the place of 51, 3.0 @023 5 km SRTADHIT
accident which is 5 km away at an - ;™
WITZ IBT ILE nowdn 40 k
average speed of 40 km/h. The time dw ' N N 7’% 3 - 0 km
taken to reach the spot is NBY STIT. VT & FIIIH,
ST SAWEROT ITHOD

4) 12.5 QDTN

1) 3 minutes

2) 7.5 minutes 1) 3 DTN

3) 10 minutes 2) 7.5 Q0TI

4) 12.5 minutes 3) 10 QNT/NLD
)

12
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52.

53.

If South-East is East, North-East is
North, South-West is South, what is
West ?

1) North-West
2) West
3) East
4) South

Ravi is sitting at the 18" position from
the beginning and at the 58" position
from the last in his class. How many
students are there in the class ?

13

52.

53.

&-373@033 @%% TRTIE, éwess as% emgd,
agposs aso& WO BR3, JIdI B

o 3 L]
OIRR)T® ?

TR0 [T ITNECRY wToPROT
183%¢ m@ﬁdg ) deNokom 583¢
m@mg VST, TeMerT ITNIHY
‘33523 &m@?ﬁ@@ﬁ ?
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(Questions 54 — 57)

Directions : |dentify the number of specified
geometric shapes in the given diagram and
mark the correct answer.

54. How many Triangles are there in the
given figure ?

391 SRYDHT UBIDY o

&3

ST ?
1) 8
2) 10
3) 12
4) 14

56. How many Squares are there in the
given figure ?

39 4Ry BB Oy BPINes ?

(@%ﬁ@a 54 - 57)

BRWIND @ 39N BL3DT WSRYY
30233 méé)aéoda SERTL ﬁosﬁéodam&
TOBHRRW YWBTHI, TSR

55. How many Parallelograms are there in
the given figure?

891 80YTHT 730D I, ARROST
BBUHBRYS?

2N\
\ N\

57. How many Semicircles arethere in the
given figure ?
TeR BRuTIT T IONY a:
SRERIROT 2

N
N

14
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(Questions 58 — 62) (@%ﬁ% 58 — 62)

Directions : In the following questions a word FRURINLD : S5 i@?ﬂs @%ﬁ%ﬂg 2,00 a’.)cs:)jn&

is written according to some code. In each A00%€3T HORONY WIONLONT. T

question a word is given and find how this can 3.0 DeRTLS TTF, Wl FoEeS3

be written in the same code. mo_'iOﬁDQ 2er wdoﬁow&odowodm&
BOTLRT FTOITE ODNRYY TOTLER.

58. If MADE is coded as REGG,thenIRON 59. If FUTURE is coded as TUFERU, then

can be written as BRIGHT can be written as

MADE 20w wcssmd REGG Q00 FUTURE &ow mwmez TUFERU
RoBese30aws, IRON Q0w TTWIY, QOTH ToBeSeTOAWS, BRIGHT Q02
&l 20BOWTOITR BRI, Soent WTOPWTOTH

1) NURQ 1) THGIRB

2) NVPR 2) IRBTHG

3) NVRP 3) IRBGTH

4) MUQO 4) IBRTHG

60. If FAMOUS is coded as 75, then 61. If ANSWER is coded as nafjre, then

PERSON can be written as ONLINE can be written as

FAMOUS o mwmel 75 QO0TN ANSWER Q0w msm‘i nafjre O
RoBe 30T, PERSON Q000 ITT, KoBe3e80WT, ONLINE 202) TTI,
Gt WBCHTIT Gl WBCHTIT

1) 80 1) bayvar

2) 83 2) cbyubr

3) 86 3) bcyver

4) 87 4) bayuat

15
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62. If COMPANY is coded as xIlnkzmb
then HANDSET can be written as

COMPANY &0 msmd xInkzmb
NOTH BoBee301TS, HANDSET 0w
msm& 2R W30

1) szmugvh
2) szmwhvg
3) sznxhug
)

4) szmvwhg

16
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(Questions 63 - 65)

Directions : i
numbers in the figures are related. Identify their ©7,8N¥ QT NO@jéﬂ)%’b GsNolelalerby

relationship and find the missing numbers in ﬁowoz‘jsm&‘ ;j@g%;b%d 8 30&)0@35?@&

the given figures.

63.

In the questions below the

3

100 ) 4

(I3 63 - 65)
BRWIN 1 83 3G BRWIB JINTY,

TR VY e BRNDD HOBRYRD,

64.

FOTIRCNO.

2 3
7(196) 4 81400} ?
1 4

1) 3

2) 4

3) 5

4) 6

10 1

8| 4| 4 6 | 7| 2

3 7
1) 1

2) 9

3) 16

4) 25
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65.
4 | s 10
2) 11
y) 1
40 3) 20
4
) > ) ) 36
3 2

18
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(Questions 66 — 69 ) (@%ﬁ% 66 — 69)
- . -
Directions: In questions given part of the figure ARUWINW © s gfﬁs 8%71@@2 Qj%@‘%ojb
is missing. Identify the missing part from 0T &N WIRNFTING. DLW,
among the given choices under each question.  Z&o3ROTD @%oj; 3SR %@éézjaa SRS
TOSTOEODNPOT MTVSA.

N

NIN

67.

N

NPEN

SES

\‘§ <

19
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68. 69.

20
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(Questions 70 - 72)

Directions : In the questions given, there are
figures/words to the top/left of the mirror
indicated by lines and their mirror images are
given in one of the four figures/words to the right
of these. Find the exact mirror image of each
figure/word.

REASON

7

72.

(Z3n 70 -72)
BRWNNL | ZRPDE IJNYY, Telne

dae%ﬁ/admﬁdgmw 238 /TTNY TTE€d
TIWOWNYD, WOLPNTY ZRTWSONT. 33
DBPRNTYND T 8/BTT IO
TEWOWTTY, TRWTIVT ©oNPOT
BOTEBOND.

"KEV2OUM 2MO2AdA

sNOSAER “BEEA20MU

21
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(Questions 73 - 76) (@%ﬁq}; 73 - 76)
= . -
Directions : In the questions given how a sheet ARUWIN -&@@5535 %golmf@q 2.0

of paper is folded and punched is shown by TN T W TVFOITY, IR TOY,

figures. If the paper is unfolded how does it m@dg@dm& 8BNY DROT SLCOAT.

appear ? Select the correct answer fromamong  =y=: o803, VBJITIR 9T 2R
° Q

the alt ti iven.
e alternatives given @méd QDO&DCS?% el TO3PE ODPNYOT

e:so:'i% 3.
¥
=
73. 4 &
e} o o
o o
O O O 0 O o O
o o
o 0 o
1) 2) 3) 4)

22
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i

¥
75. 4

|

1) 2) 3) 4)
7N
4 " Ve
76. '
/N [NV V) N\
O & O O
N/ A A NN
1) 2) 3) 4)

23
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(Questions 77 - 81) (wé’&ﬁe}‘) 77 — 81)
)
Directions : The questions given consists of TRURND | 3D TIINYY 7 Ene
series of figures which are incomplete. Inorder  3¢e503TY, FRTWCONT. VWO  TREOF
to complete the series, select the correctfigure 3ecdone). TS T30 e300
from the given choices = P .
' TROFNWITO TRLBTIT Too,
TP CDNTY BORIWTRY, S0P, B[RR.




—||/A\||=
OOl =
®) 1O
\Y V JAN
/\ VAN
W, AD ®

w1

2
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(Questions 82 - 86) (@%ﬁe}; 82 - 86)

- . -
Directions : In the questions there is some :.@2,5571@;; P3N Y0NS TEROTD
relationship between the first two figures. The @54033@,,053@ BRTIT HTB @5@3ﬁ@ﬁ
same relationship holds good for the second Fow0oFNT. VT TOWOTFH) NTHIC
set of figures of which one is missing. This Sz Ho@Ey ©32.8RY9OE. WO
missing figure is given as one of the four e D = 2
alternatives. Find the correct answer. SRE[OY. TIKROD TPod 39N

TR TIW TP, TOITEFOIINT Y,

ROOIWTTI, BORTPR.

82.

L
@
=

83.

ja)
o
S
%

1) 2) 3) 4)

26
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1) 2) 3) 4)
O
6. | > : Ol 22 .
A N Y
O
O al O
1) 2) 3) 4)
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(Questions 87 — 90) ([Bnse 87 - 90)
Directions : A sheet of paper as shown in the RRURNL ﬁ@d@&doé BOF 2,00
: wn i -
figure is folded so as to form a cube. Select the SNTT mg‘gwm& RN wm%@‘%
correct answer from the four alternatives in VORI, ToL), SORNRTY WRTJWD
which the pairs of faces are opposite. me@mggmﬁm& TROODT TO0333
YITBI, BORIPR.

87.
al b 1) a,b;ce;df
2)a,f;b,d;ce
¢ d 3) a,e;c,tf;b,d
¢ | f 4)a,d:cf:be
88. x| =|> 1) X, > =, +, %, <
o, 2) X, Y%, =, +;>,<
3) X, > =< %, +
< 4) X, <;=,+; %, >
_|_

28
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1) 7,3:4,5;9,2

89. 7 )
2)4,3;7,5;9,2
419 3y4,5;7,2;9,3
3 4)4,7;92;35
215
S
90.
& | #
)9, #:& @ ;> <
@] < 2 @,8;#<;&>
> 3) &, <;@,> # 9
4) @’#;&1>7$5<

29
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SPACE FOR ROUGH WORK
33 WIBTN B
o) T @
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SPACE FOR ROUGH WORK
33 WIBTN B
o) T @
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Instructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is

given to you.
2. All questions are compulsory, each question carries one mark.

3. During the examination,
* Read the questions carefully.

» Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not to do any stray

marks on OMR sheet.

* Ex: Inaquestion paper if No. 3 is the correct answer for Question No. 20, then in OMR

answer sheet shade circle 3 using blue/black ball point pen as follows

200102 @ @ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.
5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the Room Supervisor before

leaving the examination hall.

7. The calculator, mobiles and any other electronic devices are not allowed inside the

examination hall.

8. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.

TBOY : ARLINY FIYE STk & FIFOH TVoFRNTY AVOTOLS,
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NMMS

DEPARTMENT OF STATE EDUCATIONAL RESEARCH AND TRAINING
ooz YR T QR0.Q0.DT. aacg, SPowot — 2016

STATE LEVEL NMMS EXAMINATION, NOVEMBER - 2016
%% — Il /PAPER - I 3ong — 8/CLASS - 8
méﬁoﬂs g%% ﬁ@@i /SCHOLASTIC APTITUDE TEST

REGISTERNO:| 1| 4| 1| 1| 6

B0 1 90 DIy QONTT /33T nogy wosnsh : 90
TIME : 90 MINUTES ENGLISH / KANNADA MAX. MARKS : 90

e.-oa;zgc;s?ﬁ@ﬁ BRWBIN
1. 28 t.on7.0. (OMR) w080 ©83 B8 90 TINONT I, PYRFODZ, WA ACRSRNT.
2. 2 TFAD Fw@YOD, TS TJH LoD BOBDT.
3. [oewy WTHODY,
BE TP, WNCRTICNOT LOO.

* L.05r.s0°. (OMR) RutQ =8 I3, 509357? RO BRHOTVT LVFTIR, THTVSFLD eTWSONTVI SR
wegﬁ@ ﬁé% televolafiipicieral wegwmol @e@/ﬁ@ TOOWOD WOCF TOCNO0EF TF® B[R, YVTO3LENR
VD TPR. 0N, YETTD, 3T [RRT S WICVENTLD VTJFTINY [ CIPYTE VIR,
ROTBNGI, &.057°.sT°. (OMR) 2030 BEFOD e BRBIRTBID.

* ovoe 1 20 Se IFOD BO WvTeY 3.70. 3 SNTFD £.0337°.&T7. (OMR) PenQ 3. 5o. 20 3 =003 83
0ed QeD/BH) L TR0 T WWTRAREN BIFIZ, OB BIRWRT. 83 3¢ B0e0AT0OZ
TOTRRF oN BD0WLIeR.
200D @ @ @ (W NTORTH TI)

4. 2,00 TIR WWITHON LOTWOT Bed), VIR, OB IPRTY WOTT YWITRTR, ILOW TOMESR

WOFNTR, VETBLL WIRDY.

5. L.ozmr.so’. (OMR) a9 ANt BITY LRHE TN 3088 FeFVTITL IBHe Ao TPWLER.
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PHYSICS

1. Example for Inert gas is

1) Helium
2) Magnesium
3) Radium

)

4) Uranium

2. Ifthe velocity of the body is uniform

then the acceleration is
1) Uniform

2) Variable

3) Zero

4) Equal

. If an atomic mass of Hydrogen is
1, sulphur is 32 and oxygen is 16,
then the relative molecular mass
of a sulphuric acid (H,SO,) is
1) 98
2) 44
3) 36.5
4) 71

. Atomic number of Magnesium is
12. Then the number of valence
electrons is

1) One
2) Four
3) Two

)

4) Zero

$eSTY
=

1. =T @aog WO NTTTTH

2,00 TONT [Ny DITRTTNTT,
Slaie] ﬁeﬁm%ﬁr@

1) DFCRTTONTIE
2) BTRTHNNIT
3) BRRFONDTI

4) FHTNTIE

TYRALWR'N TTTEW T2 1, TOTR
TTSeew Ted 32 I SR
TTZER Tod 16 =W3 0RO
@ (H,S0,) mokeg wed Tod

1) 98

2) 44
3) 36.5
4) 7
sHNEOHTR TSEmED Ko, 12 &TT,
WTT BSY *ad%a@m* Bosa3,oue
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5. An object moves from AtoBina

circular path of radius 7 m. Then
its displacement is

0

1) 7

2) 14m
3) 7cm
4) 14cm

. An object of mass 10 kg is moving
with initial velocity 4 ms™. If its
velocity changesto8ms™in
2secondsthentheforceactingonitis

1) 20N

2) 30N
3) 40N
4) 10N

. Acceleration is inversely
proportional to the

1) Force
2) Velocity
3) Mass
4) Volume

. A swimmer pushes the water back
and the water pushes him forward
is the example for

1) Newton’s First Law

2) Newton’s Second Law

3) Newton’s Third Law

4) Zeroth Law

0O
WOTH TORsy) ACROT BR7m

AT FTROT BT

BOTHITTY ES MBSV

L0,

1) 7 m shodE3
2) 14 m 8N
3) 7 cm 8NTET
4) 14 cm SN

10 kg TodC3: 1.0TH TR 4 ms™
STORT IeNTY BOTWEW. WTT
ﬁcﬁwa’% 8 ms™' R 2 B3R
WTVONDLCTRT OWT w0oeeB
TBRCNAT WO

1) 20 N 8n3H33

2) 30 N sn3Ed

3) 40 N N33

4) 10 N&N3H3s

a%eﬁ.racs £R)
aeiracwwmwscscgd:@cs:
1)&@@

ﬁeﬁ%é

) 3300 acdabgz %003 3%::38,
ReT> VTSR, vhlelnd BRI -
VTR TFECITNTS

1) mémg BRTOTC VONT

2) masm@ QTTBIC V0N

3) SREIT RURTIE VO

4) 3RTT DD
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9. Potential energy of football on the

surface ground is
1) Maximum

2) Minimum
3) Zero
4) Average
10. The correct formula to find the

velocity of a body with kinetic
energy ‘K’ is

1) vzz\/%

2) v=_|2K
m

3) v=2K

Jm
4) vzém}@

11. Relation b/n frequency and
wavelengthis
1) Inversely proportional to each
other
2) Directly proportional to each
other

3) Equalto each other
4) Square of each other

12. Humidity of air medium increases,
then the velocity of sound

1) Decreases
2) Increases

3) Unaffected
4) Will be zero

9. =83 daémsd heed QTR
THEF RO gagﬁ 3303

10. .00 ONT VORI ‘K e.-mwgﬁ,
FOONT ﬁcﬁﬁaﬁg=l FOTH L RO30
TOOINT TRT,

2) v= 2K
m

3) v=2K

Jm
4) vzész

1. 53 <3 STon ©eT QRynen
QTR DOWOH

1) HReTRTITYNS
2) 363 DTBTIIIT

3) BITT RPINHETTI
4) TORT B[NE NS

12. MCHYTE Sepo3d T, 3T
Sensy)
1) 38033
2) ézsgmgd
3) BRPTC WTVRT VY
4) BRJFONTOIT
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CHEMISTRY

13. Atomic number of an atom is
1) Number of neutrons
2) Number of protons

3) Total number of protons and
neutrons

4) Total number of protons and
electrons

14. Which among the following does
not cause hardness in water ?

1) Calcium carbonate
2) Calcium chloride
3) Calcium bicarbonate

4) Calcium sulphate

15. Maximum number of electrons
accommodates on ‘L’ shell of an
atom

1) 18
2

A W

) 2
) 32
) 8

16. The particle of an atom that has no
charge

1) Electron
2)
3) Neutron
4)

Proton

Positron

dmoﬁasmg

13. 20T TTZRERNT ‘TTT30e0 50935’
NOWT 9T

1) SRERFNT [0S,
2) JpewOINE [0S,
3) WRERT BB INLRVT NG 2.3

B033,
4) BRLET B ATTWINE i)
R033,

14. 3 INSINTY BRI JeOFY
NBEDIT WORNTRRRPAY ?

1) 0000 Fodeer e
2) 5,900 &@edécsf
3) YN0 joeiper e
4) 53,9030 mzew

15. 2,00 JIT=secws L

38 ChOTLRmE HOF
2SEenY Tosy,

1) 18
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) 8

N

16. 2.0 TOTRERIRY BRFTE
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2) BRI’
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17. Existence of neutrons in an atom

was discovered by
1

) J.J. Thomson
2) Rutherford
)
)

3) Dalton

4) James Chadwick

18. S. I. unit of Density is

1) Kgm3

2) K%s

3) Kgm®

Kg
4) /nz
19. One atomic mass unitis
1) 1.66x 10" g
2) 1.66x10%%g
3) 1.66 x 1072 kg
4) 1.66 x 102" kg

20. The by-product obtained during the
extraction of zinc from zinc blende

LU
17. ITIReRIIQY SRt e
YINIODT, TITLTRIH
1) & & o
2) DT PRETE
3) @O
)

4 a%em: T RT

18. moT30H @oédm%@oﬂ: (S.L.) =5

1) Kgm3

Kg
2) /ns
3) Kgm®
Kg
9 'Y
19. 2.0%H JTTREL Tod (a.m.u.) HOTT
1) 1.66x 10" g
2) 1.66x 107°g

3) 1.66 x 1072 kg

4) 1.66 x 1072 kg

20. BTBIT PorFRow BTN, LVITed
SRR BRHTCIOT LOT-LOIF,
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21. Chemical name of baking soda 21. RN ZRWT TEZRCHAT AT
1) Sodium bicarbonate 1) Aneodo aﬁdaairaeréew’
2) Calcium bicarbonate 2) 50000 i Forieer St
3) Sodium carbonate 3) BRCBONO ToLReF LT
4) Calcium carbonate 4) 53,9030 TOLWRCE DO
22. The reason for floating of ice on 22, owondd VO e Fewws TR
water 1) S002INTOD FOTE e
1) Density of ice is more than water TOTBNOZ T,
2) Density of water is more than 2) Q0T TOTB FORINTION
ice TOTBNOZ T,
3) Density of water and ice are 3) T ;3390 momﬁ%o:b TOTE
equal R0TONTOTZTS
4) Ice dissolves in water 4) S0wNT AOIY FTMHTTH
23. An example for chemical 23. TOZORNAT m@swg& 3odR
displacement LOTRTTH
1) N, + 3H, — 2NH, 1) Ny +3H; — 2NH,
2) 2HgO - 2Hg+ 0, T 2) 2HgO —»2Hg+0, T
3) Cl,+2KI —2KCl + 1, | 3) Cl+2KI - 2KCl +1, |
4) MgSO, +Na,COj; — 4) MgSO, +Na,CO3 —
MgCO; | +Na,SO, MgCO; | +Na,SO,
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BIOLOGY

24. Natural gas is the least pollutive
source of fuel because it has low

content of
1) Potassium
2) Sulphur
3) Phosphorus

4) Chlorine

25. The main causes for the

desertification is
1) waterlogging and salinisation
2) soil erosion and afforestation

3) weathering of rocks and

deforestation
4) mining and use of chemical

fertilizers

26. The crust of the Earth is
1) Atmosphere
2) Biosphere
3) Lithosphere

4) Hydrosphere

BT
=)

24. §éxn?s WQOF) F smcﬁﬁééoia
LOTR FRVTNG. NEOTT VBTY

TR TRRRTITORT
1) LptmuoDd=T

2) noEd

3) coxs

4) 30T

25. STLERNCFTEE TSI [
O3
1) 2PMORNE B ©B[edesTED
2) SIS BVTY DY WTESFTED
3) 6IesTe0 B ©TRI0I
4) Nednodd = TIRONAT

m%dmﬂ VYT

26. PPNOH FCOTWIT N
1) Toodrieey

2) BeRniey
3) deoniecsy

4) ZORREY
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27. The basic unit of classification is
1) Family
2) Genus
3) Class

4) Species

28. The following is one of the
characteristics of Red Blood cell
1) Nucleated and Amoeboid in
shape
2) Enucleated and Biconcave in
shape
3) Nucleated and round in shape

4) Enucleated and amoeboid in

shape

29. Nucleolus are involved in the
synthesis of protein because they

are enclosed by cell organelle
1) lysosome
2) centriole
3) ribosome

4) mitochondria

10

27. JNFCITLOT s0NRY T
1) BED0W
2) 23038
3) =N
4) T3ed

28. 33 INIJYNYY F0T)TBLAW 2,00
e

1) 3Re3EOTHLET NBY WAL

3300

2) 3ReTTOTTLE T AT,

SLople
3) 8,¢38e0TFLT B WOTOTIT
4) 3RETTEOTTLE DY LNCLIV

3300

29. 3THENRCTFOTH) IRLETTT
BoZeRBeHQ TSRHRITH NEOTT
YWIY SFBTNLT Feowon
1) eﬁdz’@eimw
2) Botdcdeee®
3) c3esairaeiraew
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30. The enzyme present in HIV
1) Protease
2) Ribonuclease
3) Reverse transcriptase
)

4) Triptase

31. The mineral essential for the

functioning of prostate gland
1) lron
2)
3)
4)

lodine
Potassium

Zinc

32. The function of Androecium of a
flower
1) Protect the inner parts of the
flower
2) Produces pollen grains
3) Produces ova

4) Produces brightly coloured
petals

33. Organic farming strictly limits the
use of
1) Compost
2) Biopesticides
3)
4)

Green manure

Chemical fertilizers

11

30. BFDQHODBE 62

31.

32. TRITYDLT FoseRTH TR

-0

1) BTRIT NN, TIRIT
2) TTINNTI), YWTVORTT
3) ©OEOENNTI), YWTIRATT

4) STRET NTI, BRODTOZ
TENED, WTRAITI

3&3@%&&3@323

33. HZod: 5@&
WSBATHR) W

1) oTpeT,

BB 0%
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2) &?8@6 3083033
3) BATIRRLT
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34. The correct matching of enzyme

and their function is

A. Amylase 1. Converts starch

into maltose

B. Lipase 2. Converts sucrose

into glucose

C. Maltose 3. Converts complex

fats into simple fats

D. Invertase 4. Converts maltose

into glucose
1) A-1,B-3,C-4,D-2
2) A—2,B-1,C-3,D-4
3) A-3,B-2,C—-4,D—1

4) A-4,B-2,C-1,D-3

35. In the initial days of Earth’s

formation, elements distributed

in the outermost layer are
1) Iron and Nickel
2) Aluminium and Silicon
3) Hydrogen and Carbon

4) Nitrogen and Sulphur

12

34.

. QRT3 4.

369, T VRYNE FTOPFT BOOIRT
BROTOIF

e.—od:é@cs@ 1. SR, SRAen®
SN JORSFETW
S=exn® 2. DERCT R, ThERCT®

SN TJOTEFIIT
. BOSeEDF CWIT,
ROY e, SN
TORIrSH
SRARLTR,
eI CH
TORETDIT
1) A-1,B-3,C-4,D-2
2) A-2,B-1,C-3,D-4
3) A—-3,B-2,C—-4,D-1
4) A-4,B-2,C-1,D-3

35. BRWOH TWBOPTW TOBTY

mcmcwg 502&&@@7\%
PONH

1) 30 30 JTL*
2) ©VRNICN0 ) AVFT
3) BWRHRT® W) TWFI
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HISTORY

36. The 5 principle preached by
Vardhamana Mahaveera was

1
2
3
4) Aparigraha

Non-violence
Astheya
Brahmacharya

)
)
)
)

37. Match the following and choose the
correct alternative.

A) Egyptian 1) Euphrates
Civilization and Tigris

B) Mesopotamian 2) Italy
Civilization

C) Chinese 3) Nile
Civilization

D) Roman 4) Hwang Ho
Civilization

1) A-3, B-1, C-4,D-2

2)A-1,B-2,C-3, D-4

3) A-2,B-4,C-1,D-3

4)A-4, B-3, C-2, D-1

38. Meghadoota : Poem : : Abhijnana
Shakuntala:

1) Essay
2) Drama
3) Novel

)

4) Collection of poems

QSTOD

36. TPTTR FHTONCTR WRCHAT 53¢

37. semmnemq TOC3RT TOIREOD
emgdeaoaﬁ RON.

A) 35233, 1) o3Fsx®
SonoeEd Iy Enx®

B) 32 ntdnned 2) |8
SonoT3

C) e monoEd  3) Jof

[5) Re¥rlining 4) Ione
SONOT3

1) A-3, B-1,C—-4, D-2

2)A-1,B-2,C-3, D-4

3) A-2, B-4, C-1, D-3

4 A-4,B-3, C-2, D-1

38. eFTe3T : BT, 1 e.-ozpas%g

ROV :

1) @0z

2) [T

3) 3T0o0

4) 33T ROoN®
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39. Texcoco in Mexico is a/an 39. bedeen HF'Eedn (Texcoco)
1) Sea QONT  OT
1) B3RN0,
2) Island
2) @ew
4) Lake 4) B3ReRT
40. Aihole, the cradles of temple 40. TeTPOHT TBBVT SRLIONTY
architecture is the contribution of LOTRT VTRFCIN BTT
1) Chalukyas SRTHOIRNT
1) zsam%da
2) Kadambas
2) TTOWDI
3) Shatavahanas 3) TFEIH
4) Gangas 4) Rondd

41. The Malwa and the Deccan Plateau 4. [ DI, NS IFRRWODR,

are separated by the river BeJrRADHT IR

1) Mahanadi 1) VTIQ

2) Tapti 2) 338

3) Godavari 3) eeRwd

4) Narmada 4) IDFTD

42. Name the Veda, which has more 42. ‘BRINSOT’ ITCDOR m&)dm&

than thousand slokas called éagﬁ 5@06671@?5:4 TRODTLT Hew
‘Suktas’ 1 z)jarjsecﬁ

1) Rigveda

2) Yajurveda 2) cdbrdsFed

3) Samaveda 3) AT

4) Atharvanaveda 4) OTREEDTICT

14
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43. The correct alternative for the
following sentences.
A) The Eastern Coastline is called
as the “Coromandel Coast”.
B) The implements of the Middle
Stone Age are called delicate
Stone implements.
1) Ais true, B is false
2) Both A and B are true
3) Both A and B are false
)

4) A is false, B is true

44. In the prehistoric age, the use of
fire and signs of ashes have been
found in

1) The caves of Kurnool

)
2) The caves of Ajantha
3) The caves of Ellora

)

4) The caves of Elephanta

45. The symbolic language used by
Egyptians is
1) Latin
2) Hieroglyphics
3) Cuniform
4) Greek

15
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GEOGRAPHY AND ECONOMICS

46. The latitude that divides the earth
into Northern and Southern

hemisphere
1) Tropic of Cancer
2) Tropic of Capricorn
3) Arctic Circle

4) Equator

47. Ruby, emerald and diamonds are

foundin
1) Metamorphic rocks
2) Inorganic sedimentary rocks
3) Extrusive rocks

4) Arenaceous rocks

48. Artesian wells are more commonin
1) Europe
2) South Africa
3) Antarctica

4) Australia

16
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©0EY 03
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2) WTT FOTOS [ F
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4) FRGRRE BT
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49. Granite, Diorite and gabbro are the
best examples for
1) Intrusive rocks

)

2) Extrusive rocks

3) Inorganic sedimentary rocks
)

4) Organic sedimentary rocks

50. The distance between two
consecutive longitudes decrease
gradually with distance from the
equator because

1) All the meridians of longitude
converge at two poles

2) Allthe meridians of longitude do
not converge at two poles

3) All the meridians of longitude
converge at equator

4) All the meridians merge with

latitudes

51. The correctly matched volcano

with its country among these

1) Vesuvius — Japan

2) Krakatoa — ltaly

3) Pelee — West Indies
4) Fujiyama — Indonesia

17
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49.
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52. Tsunami waves are caused mainly

dueto
1) Under water earthquakes
2) Under water volcanic eruptions
3) Cyclonic depressions

4) Monsoon winds

53. North India lies in the temperature

zone

0 R0
52. DTw winsanen m@% FOOED

1) O3 SYTEROLIOR ZAOTOTNLY

2) DONT SYTELROEITD
@ﬂolajwrsmf f‘f’x@d@%

3) ZoCNLT RDABLOT
BOBRIOTVSND

4) SRTRHT [PBAD

53. VST RTIY) YT YVITPOBT F[OCH

o)

1) Torrid zone

2) North temperate zone
3) South temperate zone

4) Frigid zone

18
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54. The gaseous atoms are ionized in
thermosphere because of
1) Very cold temperature
2) Absorption of ultraviolet rays
3) Very high temperature
)

4) Decreasing pressure with the

increase of altitude

55. The biggest latitude is
1) Equator

2) Tropic of Cancer

3) Tropic of Capricorn

)

4) Antarctic Circle

56. The ocean of the east of Australia is

1) Indian Ocean

2) Arctic Ocean
3)
)

4

Atlantic Ocean

Pacific Ocean

57. The non-renewable resource

among these is
1) Gold
2) Water
3) Solar energy
4) Oxygen

19
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POLITICAL SCIENCE, SOCIOLOGY

AND BUSINESS STUDIES

58.

59.

60.

The word ‘politics’ was derived
from the Greek word

1) Republic
2) Politics
3) Polis

)

4) Police

“A Modern citizen as a member of
a civil society bound to it by
certain duties subjected to its
authority and an equal recipient
of its advantages” defined by

1) Vattel
2) Plato
3) Socrates
4) Aristotle

Which of the following are the
reasons, regarding loss of
citizenship ?

A) Renunciation

B) By application

C) Termination

D) Deprivation

1) Aand B only

2) A, CandD only

3) Band C only

4) A,B,Cand D

20
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61. One of the following statements
is not a special characteristic of
the Electoral Photo Identity Card.
(EPIC).

1) Itis issued by Election
Commission

2) To provide an opportunity to vote
in all the places of his convenience

3) To preventimpersonation

4) To use as a proof for general
identification

62. The functions of local self
government

A) Cleanliness and sanitation

B) To protect property

C) To prepare the annual budget
of the state

D) To encourage the Collegiate
Educational Programmes

1)
2)
3) Cand D only
4) B and C only

A and C only
B and D only

63. The Sociologist who did a
sociological study of the labour
force and the Christian religion.

1) Max Weber
2)
3) Herbert Spencer
4)

Emile Durkheim

Karl Marx
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64. Hung Assembly means
1) One party gets the majority

2) Forming government with the

help of more than two parties

3) No party gets the required clear

majority to form the government

4) Some of the political parties join
together and make alliances to
get the required majority to form

the government

65. “Division of labour” is needed in
1) Cattle rearing society
2) Industrial society
3) Farming society

4) Hunting and food gathering society

66. One of the features of Cattle

rearing society
1) It is a big society
2) Cultivation is the main occupation
3) Division of labour is needed

4) Evolved various sKkills
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67. Which of the following are the
problems involved in barter
exchange system ?

A) Particular of
measures of value

B) Difficulty of sub-division

C) Lack of double co-incidence
of wants

D) Its easy to store and
transport the goods

) A and B only
) Cand D only
) Band C only
4) Aand D only

common

1
2
3

68. Stock exchange markets of India
are controlled by
1) SEBI
2) NSE
3) BSE
4) NESDOC
69. Which one of the following point
is not a suitable feature of the
wholesale trade ?
1) Traders don’t keep high margin
of profit
2) Buy goods in large quantity from
producers and sell them to the
retailers in small quantities
3) Traders deal with one or two
types of goods
4) Entrepoted goods

70. The sociologist who study the
evolution of society
1) Emile Durkheim
2) Herbert Spencer
3) Auguste Comte
4) Max Weber
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MATHEMATICS nedg
71. If the central number of 5 x 5 magic 71. 5 x5 =500350:023 mqsscs xogj’s 13
square is 13, then the magic sum is $TT, IR IRTY
1) 25 1) 25
2) 52 2) 52
3) 65 3) 65
4) 18 4) 18
72. The value of \/41_\/21+\/m 72. \/41_\/21+m 3 23e3
1) 3 1) 3
2) 5 2) 5
3) 6.4 3) 6.4
4) 6 4) 6
73. f 134+ 23+ 334+ 43=x2,thenx = 73. 1P+23+3 +43=x2s038, x=
1) 5 1) 5
2) 7 2) 7
3) 10 3) 10
4) 15 4) 15
74. The sixth triangular number is 74. TR JBRERCOD BOLS,
1) 6 1) 6
2) 10 2) 10
3) 21 3) 21
4) 28 4) 28
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75. The product of two rational

-35
numbers is ETIR If one of them

5
is E then the other is

-2
3

76. A shopkeeper bought an article for
T 320. To make 25% profit, he
should sell the article for the price

1) T 400
2) ¥ 500
3) T 450
4) % 600

77. The correct statement for the given
data 55, 38, 69, 24, 89.

1) Median = Mode

2) Mean =Mode

3) Mean = Median

4) Mean = Mode = Median

78. If x + y = 8 and xy = 15, then the
value of x2 + y? is

1) 32
2) 34
) 36
)

A~ W

25

75. QTH mmm zoaﬁmf mtaou
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9. The value of 6.4x::2_2:2x3.6 is 20, 6.4x2::_§:2x3.6 g e
1) 10 1) 10
2) 2.8 2) 2.8
3) 12 3) 12
4) 4.6 4) 4.6
80. f A=5m + 11n - 15p, B = 12m - 80. A=5m+11n-15p, B=12m-13n
13n + 19p and C = 7m — 6n + 21p +19pH3 C=7m - 6n +21p &3
then the value of A+ B—-C s A+B-Cg 33
1) 24m—8n + 25p ) 24m—8n +25p
2) 10m+4n—-17p 2) 10m+4n-17p
3) 177m—2n+4p 3) 177m—2n+4p
4) 12m +5n—-4p 4) 12m+5n—-4p

81. The factors of x>—2y + xy — 4 are 81. Xx2-2y + Xy — 4 T &¥IIITIND

1) x—2)and (x+2 +Y) 1) (x=2)33 (x+2+Yy)
2) (x+2)and (x +2-v) 2) (x+2) B (x+2-Y)
3) (x—y)and (x + 2y — 1) 3) (x— y)m@b (x+2y-1)
4) (x +y)and (x — 2y + 2) 4) (X +y) B (x —2y +2)

82. Two numbers such that one of 82. wom 509360533 BRR0TH 50932;\03
them exceeds the other by 9 and 9 %zagﬂd ) wPNY Je3H) 81
their sumis 81. Then those SNT. TES @ Fosdnes
numbers are

1) 36,81 1) 36, 81
2) 28,36 2) 28,36
3) 36,45 3) 36,45
4) 28,45 4) 28,45
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83. The value of (10)150+ (10)146 is

1) 1000
2) 10000
3) 100000
4) 1
84. 2C
D
4x
) 90°r X N
A M B
In the given figure the value of x is
1) 17°
2) 18°
3) 90°
4) 19°
85. l

N
N
QO
+
—t
301\
o
J
,
¥

a+15°

~
¥

In the figure k || m,  is the
transversal. The value of ais

1) 45°
2) 25°
3) 30°
4) 50°

27

83. (10)'%+ (10)"¢ 3 23¢3
1) 1000

2) 10000

3) 1ooooo

4) 1

84- /\C

D
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) 90°r X R
A M B
%Jaéédass WS g.z XS B3
1) 17°
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85. l
2a+1/57°/ |
€ 4\/* >k
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86. n

< =

D B C
In the given figure if AB = BC, then
the value of x is

1) 60°
2) 120°
3) 150°
4) 30°

87. A

37° h 2x+3°
B M C

In the figure AABM = AACM. The

value of x is
1) 20°
2) 19°
3) 17°

4) 22°

28

86.

87.

< =

D B C

404 83ZRY AB = BC 33, X
2363

1) 60°
2) 120°
3) 150°
4) 30°

37° h 2x+3°
B M C

35O AABM=AACM. x 3 28
1) 20°
2) 19°
3) 17°

4) 22°
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88. The correct statement for the given
AABC is
A

[T~

B C
AC + BC<AB
BC >AC + AB
AB + BC <AC
AC + AB>BC

1)
2)
3)
4)

89. If the angles of a Quadrilateral are
in the ratio 1 : 2 : 3 : 4, then the
smallest angle is

90. Maximum number of obtuse angles
that a Quadrilateral have

88.

89.

90.

3RS bt ABCR ZowoRATos
DOO3RT IewF
A

[T~

B C
AC + BC < AB
BC >AC + AB
AB +BC <AC
AC + AB >BC

1
2
3

)
)
)
4)

WOTH WLNFWE ERCING WTNIR)
1:2:3:4 <338 &%3& BRCTT W3

1) 72°
2) 36°
3) 18°

4) 144°

WOTH WDPFE BROVTNITOTT
NTVVBRCING nogy :10335

1) 1

)
3) 3
) 4

29



SAT(K-8) DR

SPACE FOR ROUGH WORK
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Instructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is given to

you.
. All questions are compulsory, each question carry one mark.

. During the examination,
* Read the questions carefully.

* Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not do any stray

marks on OMR Sheet.

e Ex: In a question paper if SI. No. 3 is correct answer for Question No. 20, then darken

OMR answer sheet using blue/black ball point pen as follows.

200102 @ @ (This is an example only)

. If more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.
. The candidate and Room Supervisor should sign in the OMR sheet.

. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

. The calculator, mobiles and any other electronic equipments are not allowed inside the

examination hall.

. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.
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Nov-2016 NTSE GMAT Key Answers

Q No Key Q No Key Q No Key Q No Key Q No Key
1 4 11 2 21 4 31 3 41 4
2 3 12 4 22 1 32 3 42 3
3 1 13 3 23 2 33 1 43 1
4 2 14 2 24 3 34 4 44 1
5 3 15 4 25 1 35 2 45 3
6 1 16 1 26 4 36 3 46 1
7 2 17 2 27 3 37 2 47 2
8 4 18 4 28 2 38 4 48 4
9 1 19 1 29 4 39 1 49 1
10 3 20 3 30 2 40 3 50 3

Nov-2016 NTSE LCT Key Answers

Q No Key Q No Key Q No Key Q No Key Q No Key
1 3 11 2 21 3 31 1 41 2
2 2 12 1 22 1 32 4 42 1
3 3 13 3 23 3 33 1 43 3
4 1 14 3 24 1 34 3 44 1
5 4 15 2 25 3 35 4 45 4
6 1 16 4 26 4 36 2 46 4
7 3 17 4 27 1 37 1 47 3
8 4 18 3 28 2 38 4 48 1
9 3 19 3 29 3 39 2 49 3
10 1 20 2 30 2 40 1 50 1

Nov-2016 NTSE SAT Key Answers

Q No Key Q No Key Q No Key Q No Key Q No Key
1 3 21 * 41 3 61 3 81 3
2 1 22 4 42 2 62 2 82 1
3 3 23 2 43 4 63 4 83 4
4 4 24 1 44 1 64 1 84 2
5 2 25 3 45 3 65 2 85 4
6 3 26 2 46 4 66 |[**1&4| 86 2
7 1 27 4 47 2 67 1 87 1
8 2 28 4 48 3 68 4 88 *
9 2 29 2 49 4 69 2 89 2
10 3 30 4 50 2 70 2 90 3
11 4 31 3 51 1 71 2 91 3
12 4 32 2 52 3 72 3 92 2
13 1 33 3 53 3 73 1 93 1
14 3 34 1 54 4 74 3 94 1
15 1 35 2 55 4 75 4 95 3
16 2 36 1 56 2 76 1 96 4
17 4 37 3 57 1 77 4 97 3
18 1 38 1 58 2 78 3 98 1
19 3 39 2 59 4 79 3 99 4

20 4 40 3 60 3 80 4 100 *

* One grace mark will be given to AllL

** For question No. 66 both 1 and 4 option are correct.






